Name _________________________________
Period ____________
Calculate the molarity of each of the following solutions:
1. 5.85 grams of NaCl in 2.25 liters of water.

2. 400 grams of copper (II) sulfate in 3.35 liters of water.

3. 0.75 moles of nickel (II) chloride in 1.25 liters of water.

Calculate the number of moles and the number of grams of each solute in the following solutions:
4. 1.00 liters of 0.55 M NaCl

5. 250 mL of 0.15 M calcium chloride

6. 330 mL of 0.54 M copper (II) sulfate

7. How many milliliters of 0.500 M Cr2(SO4)3 solution is needed to react completely with 300 mL of 0.115 M BaCl2?

BaCl2 +
 Cr2(SO4)3 (

 CrCl3 +
 BaSO4
8. How many milliliters of 2.50 M nitric acid is needed to dissolve a copper penny with a mass of 3.94 grams?

3 Cu + 8 HNO3 ( 3 Cu(NO3)2 + 2 NO + 4 H2O

9. What is the molarity of nitric acid if 35.00 mL of the acid is neutralized by 23.55 mL of 0.89 M magnesium hydroxide?

10. What is the molarity of phosphoric acid if 25.00 mL of the acid is neutralized by 25.75 mL of 0.50 M magnesium hydroxide?

